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(1 97X6

= (100—3)%X6
= |00X6—3X6
= 600—18

= 582

(2) 96X"7

= (100—4) X7
= |O0OXT7—4X"7
700—28
=672

3 107x8

= (100+7)x8
= |00X8+7X8
= 800+56

= 856

@ 102x34
= (10042)X34

= 100X34+2X34

= 3400+68
= 3468

5) 104XY9

= (100+4)X9
= |00X9+4X9
= 900+36

= 936

2 aEr(
6) 108X8
= (100+8)X8
= |00X8+8X%X8
= 800+64
= 864

(7) 98X9

= (100—-2)X9
= |00X9—2X9
= 900—18

= 882

8) 98X4

= (100—2)X4
= |00X4—2X4
= 400—8

= 392

@ 105X7

= (100+5) X7
= |O0OX7+4+5X%X7
= 700+35

= 735

(10) 103X33
= (100+3)X33

= 00X33+3X33

3300+99
= 3399
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